50. ECONOMIC PLANNING, DEVELOPMENT AND SECURITY 55. SOCIAL SERVICES PROGRAMS 1600. OFFICE OF CHILDREN'S SERVICES 04. EDUCATION SERVICES

		04. EDUCATION SERVICES		
NJCFS Account No.	IPB Account No.	<u>Direct State Services</u>	(thousands of dollars))
		Personal Services:		
08-100-016-1600-001	1600-100-040000-12	Salaries and Wages	(6,222)	
08-100-016-1600-002	1600-100-040000-2	Materials and Supplies	(1,129)	
08-100-016-1600-003	1600-100-040000-3	Services Other Than Personal	(491)	
08-100-016-1600-004	1600-100-040000-4	Maintenance and Fixed Charges	(2,199)	
		Total Appropriation, Education Services	······ <u> </u>	10,041
	05. CHILD W	ELFARE TRAINING ACADEMY SERVICES AND OPERATIONS		
NJCFS Account No.	IPB Account No.	Direct State Services	(thousands of dollars))
- 		Personal Services:	(,
08-100-016-1600-005	1600-100-050000-12	Salaries and Wages	(3,653)	
08-100-016-1600-006	1600-100-050000-2	Materials and Supplies	(56)	
08-100-016-1600-007	1600-100-050000-3	Services Other Than Personal	(1,746)	
08-100-016-1600-008	1600-100-050000-4	Maintenance and Fixed Charges	(65)	
		Special Purpose:	,	
08-100-016-1600-047	1600-100-050010-5	NJ Partnership for Public Child Welfare	(4,000)	
		Total Appropriation, Child Welfare Training Academy Services and Operat	tions	9,520
		06. SAFETY AND SECURITY SERVICES		
NJCFS Account No.	IPB Account No.	<u>Direct State Services</u>	(thousands of dollars))
08-100-016-1600-010	1600-100-060000-5	Safety and Security Services	(4,575)	
		Total Appropriation, Safety and Security Services	····· —	4,575
		99, ADMINISTRATION AND SUPPORT SERVICES		
NJCFS Account No.	IPB Account No.	Direct State Services	(thousands of dollars)	١
11.JCI B ACCOUNT 110.	H D Account 110.	Personal Services:	(mousules of donais)	,
08-100-016-1600-011	1600-100-990000-12	Salaries and Wages	(4,576)	
08-100-016-1600-012	1600-100-990000-12	Materials and Supplies	. ,	
08-100-016-1600-013	1600-100-990000-2	Services Other Than Personal	,	
08-100-016-1600-014	1600-100-990000-4	Maintenance and Fixed Charges	(448)	
00 100 010 1000 017	1000 100 330000 1	Special Purpose:	(110)	
08-100-016-1600-016	1600-100-990020-5	Information Technology	(1,524)	
08-100-016-1600-017	1600-100-995270-5	Safety and Permanency in the Courts		
08-100-016-1600-015	1600-100-990000-7	Additions, Improvements and Equipment		
		Total Appropriation, Administration and Support Services		17,123
		Total Appropriation, Office of Children's Services	· · · · · · · · · · · · · · · · · · ·	41,259
Language Direct Stat	te Services - General Fun	nd		
08-100-016-1600-017		Of the amount hereinabove appropriated for Safety and Permanency in the	Courts, an amount not	to exceed
33 100 010 1000 017	1500 100 775210 5	\$6,688,000 shall be transferred to the Department of Law and Public Safety Child Welfare Reform Plan, subject to the approval of the Director of the Div	in accordance with the	approved
08-100-016-1600-017	1600-100-995270-5	Of the amounts hereinabove appropriated for Safety and Permanency in the C to the Court Appointed Special Advocates Program.	Courts, \$1,150,000 is app	propriated

Language -- Capital Construction

08-100-016-1600-030 1600-590-990030-7

Notwithstanding the provisions of any law or regulation to the contrary, there is appropriated an amount not to exceed \$2,400,000 for the State Automated Child Welfare Information System, subject to the approval of the Director of the Division of Budget and Accounting. The Commissioner of the Department of Children and Families shall provide the Office of Management and Budget, the Office of Legislative Services, and the Commission on Capital Budgeting and Planning with two reports, due in September and March, containing the details of the status of project deliverables, release dates of each phase, details of any required change orders, and current cost estimates for the State Automated Child Welfare Information System.

1610. DIVISION OF YOUTH AND FAMILY SERVICES 01. CHILD PROTECTIVE AND PERMANENCY SERVICES

NJCFS Account No.	IPB Account No.	Direct State Services	(thousands of dollars)
		Personal Services:	
08-100-016-1610-001	1610-100-010000-12	Salaries and Wages	(183,908)
08-100-016-1610-002	1610-100-010000-2	Materials and Supplies	(1,597)
08-100-016-1610-003	1610-100-010000-3	Services Other Than Personal	(7,922)
08-100-016-1610-004	1610-100-010000-4	Maintenance and Fixed Charges	(14,852)
08-100-016-1610-005	1610-100-010000-5	Special Purpose: Child Protective and Permanency Services	(3,437)
08-100-016-1610-007	1610-100-010000-5	New Jersey Safe Haven Infant Protection Act	(531)
08-100-016-1610-006	1610-100-012210-3	Additions, Improvements and Equipment	(10,412)
		Subtotal Appropriation, Direct State Services	
NJCFS Account No.	IPB Account No.	Grants-in-Aid	(thousands of dollars)
08-100-016-1610-014	1610-140-010050-61	Rutgers MSW Program	(950)
08-100-016-1610-015	1610-140-010080-61	Substance Abuse Services	(15,000)
08-100-016-1610-017	1610-140-010130-61	Group Homes	(10,792)
08-100-016-1610-018	1610-140-010150-61	Treatment Homes	(3,385)
08-100-016-1610-019	1610-140-010180-61	Public Awareness for Child Abuse Prevention Program	(293)
08-100-016-1610-020	1610-140-010190-61	Community Provider Cost of Living Adjustment	(5,337)
08-100-016-1610-021	1610-140-010290-61	Independent Living and Shelter Care	(28,734)
08-100-016-1610-022	1610-140-010400-61	Residential Placements	(15,779)
08-100-016-1610-023	1610-140-010410-61	Family Support Services	(73,881)
08-100-016-1610-024	1610-140-010420-61	Child Abuse Prevention	(11,965)
08-100-016-1610-025	1610-140-010430-61	Foster Care	(86,617)
08-100-016-1610-026	1610-140-010450-61	Subsidized Adoption	(85,680)
08-100-016-1610-030	1610-140-010620-61	Recruitment of Adoptive Parents	(694)
08-100-016-1610-032	1610-140-011230-61	Foster Care and Permanency Initiative	(8,190)
08-100-016-1610-034	1610-140-013330-61	County Human Services Advisory Board-Formula Funding	(7,765)
08-100-016-1610-036	1610-140-014110-61	New Jersey Homeless Youth Act	(1,576)
08-100-016-1610-038	1610-140-016210-61	Wynona M. Lipman Child Advocacy Center, Essex County	(521)
08-100-016-1610-039	1610-140-017020-61	Purchase of Social Services	(53,975)
		Subtotal Appropriation, Grants-in-Aid	411,134
		Total Appropriation, Child Protective and Permanency Services	633,793
NICFS Account No.	IPB Account No.	99. ADMINISTRATION AND SUPPORT SERVICES <u>Direct State Services</u>	(thousands of dollars)
		Personal Services:	
08-100-016-1610-009	1610-100-990000-12	Salaries and Wages	(34,901)
08-100-016-1610-010	1610-100-990000-2	Materials and Supplies	(99)
08-100-016-1610-011	1610-100-990000-3	Services Other Than Personal	(376)
08-100-016-1610-012	1610-100-990000-4	Maintenance and Fixed Charges	(1,326)
08-100-016-1610-013	1610-100-990000-7	Additions, Improvements and Equipment	(1,084)
		Total Appropriation, Administration and Support Services	
		Total Appropriation, Division of Youth and Family Services	671,579

Language Grants-In 08-100-016-1610-022 08-100-016-1610-017 08-100-016-1610-018 08-100-016-1610-025	1610-140-010400-61 1610-140-010130-61 1610-140-010150-61 1610-140-010430-61	The sums hereinabove appropriated for the Residential Placements, Group Residential Services, Foster Care, Subsidized Adoption, and Family Suppo for the payment of obligations applicable to prior fiscal years.		
08-100-016-1610-026 08-100-016-1610-023 08-100-016-1610-025	1610-140-010450-61 1610-140-010410-61 1610-140-010430-61	Any change by the Department of Children and Families in the rates paid	I for the factor care and adoption	
08-100-016-1610-026	1610-140-010450-61	subsidy programs shall first be approved by the Director of the Division of		
08-100-016-1610-025 08-100-016-1610-026	1610-140-010430-61 1610-140-010450-61	Of the amount hereinabove appropriated for Foster Care and Subsidized Ad Family Services may expend up to \$225,000 for recruitment of foster a however, that a plan for recruitment and training first shall be approved b Budget and Accounting.	and adoptive families; provided,	
08-100-016-1610-031	1610-140-011200-61	Receipts in the Marriage License Fee Fund in excess of the amount anticip	ated are appropriated.	
08-100-016-1610-034	1610-140-013330-61	Funds recovered under P.L.1951, c.138 (C.30:4C-1 et seq.) during the current fiscal year are appropriated for resource families and other out-of-home placements.		
08-100-016-1610-022	1610-140-010400-61	Notwithstanding the provisions of any law or regulation to the contrary, the appropriation hereinabove in the Residential Placements account is subject to the following condition: amounts that become available as a result of the return of persons from in-State and out-of-State residential placements to community programs within the State may be transferred from the Residential Placements account to the appropriate Child Protective and Permanency Services account, subject to the approval of the Director of the Division of Budget and Accounting.		
08-100-016-1610-034	1610-140-013330-61	Receipts from counties for persons under the care and supervision of the Division are appropriated for the purpose of providing State Aid to the counties, subjust the Division of Budget and Accounting.		
08-100-016-1610-039	1610-140-017020-61	Of the amount hereinabove appropriated for the Purchase of Social Sappropriated for the programs administered under the "New Jersey Home (C.9:12A-2 et seq.), and the Division of Youth and Family Services shall allocation to address transitional living services in the division's region that over-capacity.	less Youth Act," P.L.1999, c.224 prioritize the expenditure of this	
08-100-016-1610-016	1610-140-010090-61	The unexpended balances at the end of the preceding fiscal year in the Advocacy Centers account are appropriated, subject to the approval of the I and Accounting.		
	1620. I	DIVISION OF CHILD BEHAVIORAL HEALTH SERVICES 02. CHILD BEHAVIORAL HEALTH SERVICES		
NJCFS Account No.	IPB Account No.	Direct State Services	(thousands of dollars)	
08-100-016-1620-012	1620-100-020000-12	Personal Services: Salaries and Wages	(2,119)	
		Subtotal Appropriation, Direct State Services	2,119	
NJCFS Account No.	IPB Account No.	Grants-in-Aid	(thousands of dollars)	
08-100-016-1620-006		Care Management Organizations	(33,114)	
08-100-016-1620-007	1620-140-020020-61	Treatment Homes and Emergency Behavioral Health Services	(162,973)	
08-100-016-1620-008	1620-140-020030-61	Youth Case Managers	(15,848)	
08-100-016-1620-009	1620-140-020040-61	Family Support Organizations	(4,624)	
08-100-016-1620-010	1620-140-020050-61	Mobile Response	(10,166)	
08-100-016-1620-011	1620-140-020060-61	Intensive In-Home Behavioral Assistance		
08-100-016-1620-013	1620-140-020080-61	Youth Incentive Program	(8,016)	
08-100-016-1620-014	1620-140-020090-61	Outpatient	(5,668)	
08-100-016-1620-015	1620-140-020100-61	Partial Care	(6,772)	
08-100-016-1620-016	1620-140-020110-61	Contracted Systems Administrator	(6,668)	
08-100-016-1620-028	1620-140-020200-61	Community Provider Cost of Living Adjustment	(4,819)	
		Subtotal Appropriation, Grants-in-Aid	285,158	
		Total Appropriation, Child Behavioral Health Services	287,277	

99. ADMINISTRATION AND SUPPORT SERVICES

IPB Account No.	<u>Direct State Services</u>	(thousands of dollars)	
	Personal Services:		
1620-100-990000-12	Salaries and Wages	(3,030)	
1620-100-990000-2	Materials and Supplies	(4)	
1620-100-990000-3	Services Other Than Personal	(18)	
1620-100-990000-4	Maintenance and Fixed Charges	(403)	
	Total Appropriation, Administration and Support Services		3,455
	Total Appropriation, Division of Child Behavioral Health Services	· · · · · · · · · · · · · · · · · · ·	290,732
	1620-100-990000-12 1620-100-990000-2 1620-100-990000-3	Personal Services: 1620-100-990000-12 Salaries and Wages 1620-100-990000-2 Materials and Supplies 1620-100-990000-3 Services Other Than Personal 1620-100-990000-4 Maintenance and Fixed Charges Total Appropriation, Administration and Support Services	Personal Services: 1620-100-990000-12 Salaries and Wages (3,030) 1620-100-990000-2 Materials and Supplies (4) 1620-100-990000-3 Services Other Than Personal (18)

Language -- Grants-In-Aid - General Fund

08-100-016-1620-007	1620-140-020020-61
08-100-016-1620-008	1620-140-020030-61
08-100-016-1620-006	1620-140-020010-61
08-100-016-1620-013	1620-140-020080-61
08-100-016-1620-010	1620-140-020050-61

Notwithstanding the provisions of any law or regulation to the contrary, no funds hereinabove appropriated for Treatment Homes and Emergency Behavioral Health Services, Youth Case Managers, Care Management Organizations, Youth Incentive Program, and Mobile Response shall be expended for any individual served by the Division of Child Behavioral Health Services, with the exception of court-ordered placements or to ensure services necessary to prevent risk of harm to the individual or others, unless that individual makes a full and complete application for Medicaid or NJ FamilyCare, as applicable. Individuals receiving services from appropriations covered by the exceptions above shall apply for Medicaid or NJ FamilyCare, as applicable, in a timely manner, as shall be defined by the Commissioner of Children and Families, after receiving services.

1630. DIVISION OF PREVENTION AND COMMUNITY PARTNERSHIPS 03. PREVENTION AND COMMUNITY PARTNERSHIP SERVICES

	03.1 K	EVENTION AND COMMONTH HARTNERSHILL SERVICES		
NJCFS Account No.	IPB Account No.	<u>Direct State Services</u>	(thousands of dollars)
		Personal Services:		
08-100-016-1630-001	1630-100-030000-12	Salaries and Wages	(767)	
		Subtotal Appropriation, Direct State Services		767
NJCFS Account No.	IPB Account No.	Grants-in-Aid	(thousands of dollars)
08-100-016-1630-010	1630-140-030010-61	Area Prevention and Support Services	(7,771)	
08-100-016-1630-013	1630-140-030040-61	School Based Youth Program	(24,439)	
08-100-016-1630-024	1630-140-030050-61	Family Support Services	(11,874)	
08-100-016-1630-014	1630-140-030060-61	Domestic Violence Prevention Services	(14,408)	
08-100-016-1630-025	1630-140-030110-61	Amanda Easel Project	(125)	
		Subtotal Appropriation, Grants-in-Aid		58,617
		Total Appropriation, Prevention and Community Partnership Services		59,384
		99. ADMINISTRATION AND SUPPORT SERVICES		
NJCFS Account No.	IPB Account No.	Direct State Services	(thousands of dollars)
		Personal Services:		
09 100 016 1620 006	1620 100 000000 12	Colonias and Wagas	(067)	

99. ADMINISTRATION AND SUPPORT SERVICES				
NJCFS Account No.	IPB Account No.	Direct State Services	(thousands of dollar	s)
		Personal Services:		
08-100-016-1630-006	1630-100-990000-12	Salaries and Wages	(967)	
08-100-016-1630-007	1630-100-990000-2	Materials and Supplies	(26)	
08-100-016-1630-008	1630-100-990000-3	Services Other Than Personal	(103)	
08-100-016-1630-009	1630-100-990000-4	Maintenance and Fixed Charges	(309)	
		Total Appropriation, Administration and Support Services	······ –	1,405
		TotalAppropriation,DivisionofPreventionandCommunityPartnerships		60,789

Language -- Grants-In-Aid - General Fund

08-100-016-1630-014 1630-140-030060-61

Of the amount hereinabove appropriated for the Domestic Violence Prevention Services, \$1,309,000 is payable out of the Marriage License Fee Fund. If receipts to that fund are less than anticipated, the appropriation shall be reduced by the amount of the shortfall.

Language -- Grants-In-Aid - General Fund

08-100-016-1630-013 1630-140-030040-61

Of the amounts appropriated for the School Based Youth Program, there shall be available \$400,000 for the After School Reading Initiative, \$200,000 for the After School Start-Up Fund, \$400,000 for School Health Clinics, and \$530,000 for Positive Youth Development.

Total Appropriation, Social Services Programs	1,064,359
Total Appropriation, Department of Children and Families	1,064,359
Totals by Category: Direct State Services Grants-In-Aid	309,450 754,909
Totals by Fund: General Fund	1,064,359

DEPARTMENT OF CHILDREN AND FAMILIES

To ensure the proper reallocation of funds in connection with the creation of the Department of Children and Families, of the amounts hereinabove appropriated, the Department of Children and Families may transfer appropriations to the Department of Human Services, subject to the approval of the Director of the Division of Budget and Accounting.

County-based Differential Response programs funded by the Department of Children and Families to prevent child abuse and neglect shall provide services to families and follow intervention strategies that are defined with the participation of local community-based organizations and shall assure cultural competency to serve families within their respective counties. The Department of Children and Families staff who serve children and families in the field, who have not already received training in cultural competence, will be trained in cultural competency. The Department of Children and Families shall also offer training opportunities in cultural competence to staff of community-based organizations serving children and families under contract to the Department of Children and Families.

NOTES